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@g&é%g & S2:Q0h

In an election between two candidates, first
can didate got 80% of the total valid votes, If
10% of the total 1,80,000 votes were
declared invalid, then the number of valid
votes plled in favour of the second candidate
is

B8 gy #OAS IYES®, T K8 HOFD

£.68° 80% Sromrd. Ingo L. 1,80,000.

&S 10% Bepadd SB%. @ond Bokd 38
oS &8y Sogy oE?

1) 31,400 2) 31,500

3) 32,400 4) 32,420

The population of a town was 8,000. After
one year the populatio nof male increased by
10% while that of female increased by 8%
but the total population increased by 9%, Find
the number of male initially.

a8 KJ%S@ (08 axrgr 8000. &8 KYod&Bo
SBaes HBO® éogpeg 10%, @\3@ éosp?g 8%,

Jw&o e 9 % DOMPon. e DD

Ddogy Dod?
1) 4,000 2) 5,000
3) 4,500 4) 6,000

When a number is increased to 125% then
number becomes 300 less than the other
number but if that no. is increased to 150%
than that number becomes 200 less than that
second number. Find the sum of both the
numbers.

2.8 éospézéa 125% 28 209, 26% Dend IS
éogp?géoé 300 S, o3 doggd 150% Q8
2008 2.630 Dend I8 éogp?g go& 200 ééé)&as.
©onS Bod Jogye IwEo doE?

1) 1000 2) 1200 3)800 4) 1600
If the cost price of 10 articles is equal to the
selling price of 9 articles, the gain or loss
percent is.

10 Sden 57 I, 9 Sden @l I
JETS0 @ond el S $55e80 Jos?

UNIQUE STUDY CIRCLE

1) 1lé%proﬁt 2) 7%% profit

1 12
3) 115% Loss 4) 1E%IOSS

The cost price selling price of an articleis a :
b. If b is 200% of a then the percentage of
profit on cost price is.

Q) o, @S Jve Kk AHB a: b. b Denss,
a&® 200% ©and orgl BEo Jod?

1)75%  2)125% 3)100% 4)200%
A radio is sold for R. 990 at a profit of 10%
what would have been the actual profit or loss
on if had it been sold for Rs. 890 ?

2.8 D& 990/~ o8 10% e°go $K900.
TR 890 w8 $i) ool Soe SHo dod?
I)Rs. 10 loss 2) Rs. 10 profit
3)Rs. 90 loss 4) Rs. 90 profit

A article listed at Rs. 800 is sold at successive
discounts 0f25% and 15%. The buyer desires
to sell it off at a profit of 20% after allowing a
10% discount. What should be his list price ?
a8 3 (D85S Io 800/ w0 SHde
25%, 15% tromden (HEBomed. & SHHP
10% oo )y 20% e°o DPoTre08, (58S
30 Nog?

1) Rs. 620 2) Rs. 600

3) Rs. 640 4) Rs. 680

A dealer buys a table listed at Rs. 1500 and
gets successive discounts 0f 20% and 10%.
He spends Rs. 20 on transportation and sells
at a profit of 20%. Find the selling price of
the tabe (in Rs).

2.8 &ob, 1500/~ [H80S $8 Ko 5095 20%,
10% 550 trondes® &ffen I, (SES\viee)
8% 20/~ pty) 32, 20% oo Pomeeos
e Nod BB @:5338)?

1)1320 2)1080 3) 1200 4)1230
Rs. 1,25,000 is borrowed at CI at the rate of
2% for the first year, 3% for the second year
and 4% for the third year. Find the amount to
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10.

I1.

12.

13.

be paid after 3 years.

1,25,000 o 3088 Sod& o 2%, BosS
BB 3% KK BosB)Bo 4%, HED6S
©HPre B, BEHE WseBo 3 Ho. F&haeS Hi)
&0 Do&?

1)Rs. 1,35,678 2)Rs. 1,36,587
3)Rs. 1,63,578 4)Rs. 1,36,578

A sum of money placed at compound interest
doubles itselfin 6 years. In how many years
will itamount to 16 times itself ?

§08 @iden SEHE Bdo (1S 6 So.0B 3o

©SB06. 16 Dy ©MHLE Jod sPeo
D ok?

1) 24 years 2) 26 years

3) 22 years 4) 20 years

Find the difference between the compound
interest and the simple interest for the sum of
Rs. 2500 at 6% per annum for 2 years.
2500/~ &5, 6% $E3en&® 2 Bo.o Fren PP
an $%) CL Sl o 3o do?

1)Rs.9 2)Rs. 8

3)Rs. 7.5 4)Rs. 6

In what time Rs. 8,000 will amount to Rs.
9,261 at 10% per annum compound interest,
when the interest is compounded half yearly
9

8000/~ o 10% SESES® efpr o $)
Iwdo 9261. HEJ ©& 6 SweH B,
®ONS SO0 DoE?

1 1
1) 35% years 2) 15% years

1
3) 25% years 4) 2 years

At what rate percent per annum will the
simple interest on a sum of money be 2/5 of
the amount in 10 years.

08 @:de0i, 10 K0, Jod Eo HECNE®
OHPre DY 3E) THSE odens® 2/56 Soh
©H&B0&?

1) 4% 2) 6%

UNIQUE STUDY CIRCLE
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14.

15.

16.

17.

18.

2 2
5—% 6—%
3) 7 4) 3

A person lent Rs. 5,000 partly at the rate of 4
percent p.a. and partly at the rate of 5 percent
per annum simple interest. The total interest
after 2 years is Rs. 440. To find the sum of
money lent at each of the above rates, Rs.
5,000 is to be divided in the ratio.

2.8 %58 5000/~ o Bod grrrenrre DB, &8
o) 4% Bk g 5% zéééggs e
8 2 Ho. Soxg HT) arthSbe ImBo 440.
oS & gPrre QY Jod?

D4:5 2)3:2 3)5:4 4)2:3
With a given rate of simple interest, the ratio
of principal and amount for a certain period
oftimeis4 : 5. After 3 years, with the same
rate of interest, the ratio of the principal to
amount becomes 5 : 7. The rate of interest is.
$8¢ 56 [H5e60 @den, Iwgoo Y 4: 5. 3
0.0 So%E den, oo P& 5 : 7. wond
Zéé‘c%ew o,

1) 4% 2)6% 3)5% 4)7%

In one galss, milk and water ate mixed in the
ratio 3 : 5 and in another glass they are mixed
in the ratio 6 : 1. In what ratio should the
contents of the two glasses be mixed together
so that the new mixture contains milk and
waterintheratiol:17?

a8 FES o, JHH S MYy 3 ¢ 5,
36°8 PES® 6 1 1. & Bok PSS
DESresH O AYHBS® E0HB $DE MEH0S®
Feod, i)%fgé) 0G5 AQPB 1: 1 e Goewod.
1)20:7 2)8:3 3)27:4 4)25:9
IfA:B=3:4,B:C=5:7andC:D=3:
5,then findA:B:C:D.
A:B=3:4,B:C=5:7, C:D=3:5,
owand A:B:C:D do&?

1)9:21:12:28 2)45:60:84:140
3)9:12:28:21 4)9:12:21:82
The ratio of income of Aand Bis 3 : 2 and
the ratio of their expenditure is 4 : 3 and their
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19.

20.

21.

savings are respectively Rs. 2,000 and Rs.
1000. Find the income of A and B
respectively.

A, B eoedire 358 3 : 2. a0 e Q8 4
8. % HHIe 2000, 1000 & TR,
T8 TPairen S Do ?

1) Rs. 6000,4000  2)Rs. 3000, 2000
3) Rs. 4500,3000  4)Rs. 7500, 5000
Rs. 555 was to be divided among A, B and
111
4’56
was divided in the ratio of4 : 5 : 6. The amount

C in the ratio of But by mistake it

in excess received by C was.

555/- o A, B, Co &g —:7:

0B adeore 4 : 5 : 6 AHBS® Hodd, C
et 2SS Dos?

1)Rs. 72 2)Rs.75 3)Rs.22 4)Rs. 52
A started some business with Rs. 26,000.
After 3 months B joined him with Rs. 16,000.
After some more time C joined them with Rs.
25,000. At the end of the year, out of the total
profit of Rs. 15,453, C gets Rs. 3825 as his
shares. How many months after B joined the
business, did C join ?

A o3 58 26000/- 33&36%33&58 o580
(@800, 3 Jwe ooy B,16000/-
288" Togar8od® Dot @ SHard ol
seerR8 C,25000 epad&® Tootd. SoE)so
E&ad T8 FPodd Iwdo ergio 15,4538° C
e 3825, B 388 Qo8 sewo $%hars C
Joetd.

1)3 2)4 3)5 4) None
The investments made by X and Y are in the
ratio 3 : 2. If 5% of total profit is donated and
A gets Rs. 8,550 as his share of profit then
what is the amount of total profit.

X 08cin Y et JPB 3 1 2. wdo
508 5% b0 B, ADS eAS® A seer
8550 Iwo ergfo dos?

1) Rs. 14000 2) Rs, 15,000

UNIQUE STUDY CIRCLE
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22.

23.

24.

25.

3)Rs 11,050 4)Rs. 12,020

A puts Rs. 768 more in a business than B,
but B has invested his capital for 7 months
while A has invested his for 4 months. If the
share of A is Rs. 42 more than that of B out
of the total profits of Rs. 358, find the capital
contributed by B ?

wg@%o@’s A ?;Jé%geo&, B 508 768 &S, B
eparts o0 7 Jven. A Dépad o0 4 Joen.
ogod® Aarer, B 808 42 8%, Sndo erglo
358. B expad dod?

1) Rs. 642 2) Rs. 1400

3)Rs. 632 4) Rs. 462

The average age 11 players of a cricket team
is increased by 2 months when two of them
aged 18 years and 20 years are replaced by
two new players. The average age of the new
players.

a8 (8365 doc® 11 %0b werrdy Sot. do
o& 18 o., 20 Do., Schden Ko acgéo
H5he o’ T agn 68 do v
) 2 Jveo 1OACH. BF™ TOS Bgd
B Dijen HoY) dod ?

1) 19 years 1 months

2) 19 years 6 months

3) 19 years 11 months

4) 19 years 5 months

The average salary at all the workers in a
workship is Rs. 8000. The average salary of
the 9 technicians is Rs. 12,000 and the
average salary of the rest is Rs. 6500. The
total number of workers in the workshop is.
28 SoYrEod® wolth B T8 Bifn do
8000. 9 rob BENDY Difew d8o 12,000.
Dok 700 Jisen #Bo 6500 Indo HA T8
Sdogy do&?

1)31 2)32 3)33 4) 34

B was born when A was 4 years 7 months
old and C was born when B was 3 years 4
months old. When C was 5 years 2 months
old, then their average agewas.
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26.

27.

28.

29.

A SHy) 4 JodGore 7 Jven &k, B
a@&owtﬁa. B $050%) 8 %0.0 4 Jwen a6sdod
C aometd. C $0hiy 5 Soddore 2 Jven
SIPEO T8 Difen Do) DoE?

1) 8 years 9 months

2) 7 years 3 months

3) 8 years 7 months

4) 8 years 11 months

X can do a work in 18 days and Y in 36
days. How many days they work together to
complete the two-Third work ?

X a8 522 18 & Y o8 H5AQ 36 Slare®
Bohrod. a8 88D 2/3 HokH HAY A
Ber s Bahiseosn?

1)4 2)12 3)8 4)9
Aand B can do a job together in 7 days. A is

1. . .
25 times as efficient as B. The same job can

be done by A alone in.
A $8c» B en 0% a8 $32 7 &fers®

Sadriots, Ao B asox0s 2 3ty A

2,060 Q) 5883083: BoHre?

1
1)95 days 2) 11 days

1 1
3) 1ZZ days 4) 165 days

A can do apiece of work in 14 days which B
can do in 21 days. They begin together but 3
days before the completio of the work, A
leaves off. The total number of days to
complete the work is.

2.8 DAV A 14 &%e¢f, B 21 8% Sriods.
agss $ (oo, 3 Serdd 39
FPEHEBOEIT A IYRFair. HY Fndo Y
BPer S Sr8B06?

3 1 1 1
hl - 10— 13=
1) 63 2)8- 3) 0 4) 35

6 men and 5 children can earn Rs. 1400 in 5
days. 8 men and 7 children can earn Rs. 3040

UNIQUE STUDY CIRCLE
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30.

31.

32.

in 8 days. How many days will it take to 4
men and 3 children to earn Rs. 720 ?

6 HOpen NBAW 5 dyen DD 5 85&062
1400/~ Soartrdd. 8 Hospen bk 7 deen
80 8 &er&? 3040 SorOFB. 4 HBren,
3 g EO 720 /- SorBoHed Hod
QD000 $HHeod?

1) 3 days 2) 2 days

3) 4 days 4) None

Pipe A can fill a tank in12 hours and pipe B
can fill itin 15 hours, separately. A third pipe
C can empty it in 20 hours. Initially pipe A
was opened, after one hour pipe B was
opened and then after 1 hour when pipe B
was opened pipe C was also opened . In how
many hours the tank will be full ?

A o3 29 12 Kotree®, B o3 9 15 Kotres®
5055 othries). C SeGo 20 Koereoe®
g Sodhried. It A K BB, SHaed 1
Kot &Xard B Ko 88w, & &Xaed 1 Koy
B5ard C & BBoedd. ©@ond Q08 dadho
BB ¢r505 Joth&od?

1) 9% hours 2) 6% hours

3) 10 hours 4) None

A train running at 7/11 of its own speed
reached a place in 22 hours. How much time
could be saved if the train would run at its
own speed.

a8 Beo rprde 3o’ 7/11 ok SKos®
(BSreB 22 Kobeos® H&ogaeso BBo&ob.
s SK08° (HATBR dod dHcho et
&0k ?

1) 14 hours 2) 7 hours

3) 8 hours 4) 16 hours

A person started his journey in the morning.
At 11 a.m. he covered 3/8 of the journey and
on the same day at 4.30 pm. he covered 5/6
of the journey . He started his journey at.

a8 B8 83 (Hosreos® &. 11 8, 3/8 o
&80, ar.4:308 5/6 S0& tredo (Hairdomrtd.
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33.

34.

35.

36.

and @8 (Paireo (PEodoRS Iocho
Qo&?

1) 6.00 am 2)3.30 am

3)7.00 am 4)6.30 am

Jatin rides on bicycle at 8§ km/hr and reaches
his school 2.5 minutes late. The next days he
increases his speed to 10 km/hr and reaches
school 5 minutes early. How far is the school
from his house ?

288, 2853 8 8.2 fo. Fo&® 3YB 2.5 .
8050 ©HHH. ShHaed 8% 10 8.8, /i50.
S50 5@%}3 5 Q. $00d ﬁaéaegﬁ;?éo Sz,
ﬁaéae@;?é Er80 dos?

1)58km 2)8km 3)5km 4)10km
Two trains, 80 metre and 120 metre long, are
running at the speed of 35 km/hr and 25 km/
hr respectively in the same direction on parallel
tracks. How many seconds will they take to
pass each other.

80 &, 120 . FEHeo Ko Bo BEy a8
838 35 8.8./50. 25 8%./ Ko. Srrest
(DSBIR, a8 TP HHEEB dod HSHahos®
e KoY.
1) 48 sec
3) 70 sec

2) 64 sec
4) 72 sec

1 ..
A person canrow 7 5 km an hour in still water

and he finds that it takes him twice as long to
row up as to row down the river. The speed
of the stream is.

1
NS HBSE %92 S50 75 8.8, 0. BHaesse

83° E0o8 Erdo (HosrdoHed KJ% Q08
B0y Do Eﬁ?gé’éésp BES® (HSrotHead
$5H%08. oS (Hars Jko Jos?
1) 2 km/hr 2) 3 km/hr

3) 22 km./hr 4) 32 km/hr

9% - 11 when divided by 8 would leave a
remainder of.
9° - 11 % 8 T grAY $T) ko Jod?

UNIQUE STUDY CIRCLE
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37.

38.

39.

40.

41.

42.

)0 2)1 3)2 4)6

How many numbers are there from 700 to
950 (including both) which are neither divisible
by 3 nor by 7 ?

700 %08 950 58 Ko Soggs® 3 B A, 7
3 ™ grhoHEd Ddoggen I Bod.

1) 107 2) 141  3)144 4)145

A tin of oil was 4/5 full. When 6 bottles of oil
was taken out and 4 bottles of oil was poured
into it, it was 3/4 full. How many bottles of oil
can the tin contain ?

gemy&® 4/56 HodH r3 Bk, ) ol 6
&y 82, 4 oy 08B (HnBo 3/4 Hok
Rore o, wond KeaE® I ey 3
Hereos?

1)10 2)20 3) 30 4) 40
Three numbers are in the ratio 2 : 3 : 4 and
their H.C.F. is 12. The L.C.M. of the numbers
is.

S0l Dogyge AP 2: 3 :4 T8 KJegre 12.
& EJrD dod?

1) 144 2)192  3)96 4)72

If P=2335;Q=2°3.7 then HCF of P
and Q is.

P=23315;Q=2%3.7 wand P, Qo HCF
Do&?

1)2.3.5.7 2) 3.2

3) 2237 4) 2531957
Number of digits in the square root of
62478078 is.

62478078 cBaaégT égém@oée Q) @osen Eod.
1)4 2)5 3)6 4)3

1 .2 1 3
ThevalueofSETIEXZ 10+1_1
5

1 2 1 3

5§+1—><— 10—1——1_1 Dend Jok?
5
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43.

44,

45.

46.

67 128 128

DIs 25 D7 Dy
0.324x0.081x 4.624

The value of \/1_5625X0_0289x72.9x64 s

Qend Joes?

\/ 0.324x0.081x4.624
1.5625x0.0289 x 72.9 x 64

)24  2)24  3)0.024 4)0.24

12

Whatisthevalueof[(ﬁJrﬁ)+(\Bl_8ﬁ)}

18

12
{(\/gJﬂ/g)Jr(\/g_\/g)]&)@oé Qo?

DI15(5-43) D345 +43)
HIS(FHB) 933G 5)
Whatis (x — ) +(y — ) +(z _x)

()c—y)3+(y—z)3+(z—x)3

3

(=) (0 =2) (7 -)

(x—y)3 +(y—z)3 +(z—)c)3

Dend Joe?

) (x + y) (y+2)
(x+2)
2) (x ty)’ (yt+z)* (z+x)’
3) (x+y) (y+2) (2+%)

4) (x+y) (y+2)
In the given figure, PAB is a secant and PT is

a tangent to the circle from P. fPT =5 cm,
PA= 4 cm and AB =xcm, then x is.

g QBos® PAB 3¢5 e, PT @633&3, PT
=5cm, PA= 4 cm, AB =X cm ®ond X
QoB?

5 cm

4cmA

UNIQUE STUDY CIRCLE
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47.

48.

49.

50.

1)4/9 2)9/4 3)5 4)2/3
What is the area of the triangle whose sides
are9cm, 10cmand 11 cm ?

9 20.8., 10 0.8, 11 0.8, gheren Ko
(Bghe: FBPe0 DoB?

1)30 cm? 2) 60 cm?

3)30 /2 cm? 4) 60 /2 cm?

The length of three medians of a triangle are
9 cm, 12 cm and 15 cm. The area (in sq.cm)
of the triangle is.

(&gheso (ﬁ:oé& RKo7edd 56365?3 58 Bgpen 12 0.8,
15 20.8b, 9 0.8, wows (Behes S50 QoB?
1)24 2)72 3)48 4) 144
The diameter of two cylinders, whose volumes
are equal, are in the ratio 3 : 2. Their heights
will be in the ratio.

3o :63;@"0 Hoeadhegren Jddwdo. 8
TgPo Y8 3 1 2 78 K JYPB Jod?
1)4:9 2)5:6 3)5:8 4)8:9
A soild wooden toy is in the shape of a right
circular cone mounted on a hemisphere. If
the radius of the hemisphere is 4.2 cm and
the total height of the toy is 10.2 cm, find the
volume of the wooden toy (nearly)

z?)ézﬁs EA5BS &, @gﬁs@’o D &ood
Fognd) Srbd Bod. @gﬁ's%?’o a°§©°go 4.2
200.8. £°%y Iodo & 10.2 0.8b. @ £°KY
RBooB) P0ea00X7°690 XL OB ?

1) 104 cm? 2) 162 cm?

3)427 cm? 4) 266 cm®

Direction (51-54): Complete the following series

51.

52.

53.

54

S5 (808 (BB Hrdohdm:
12, 27, 92, 435, 2574,

1) 18969 2) 19969
3) 17969 4) 17999
9, 73, 241, 561, 1081,

1) 1859 2) 1749
3) 1700 4) 1849
LPKS, WWPL, HDUO,

1) SKZR 2) SJZR

3) SKYR 4) None of these H&=e5H
--bc --aab--baa--cb--ab--ba
1) abcabce 2) abcbac
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55.

56.

57.

38.

59.

60.

3) abcbea 4) aabbcc
Direction (55-57): In certain code

2.8 H8erRSt

Column-I Column-II

PRINT 43268

TRIM 3294

ROCK 5310

MILK 4959

PIT 426

CLOCK 70501

What is the code for L?

L' Gwg) 858 aud?

15 2)7 3)6 4)8

Find the code for PORT?

PORT e 55 Gog) 896 H20B?
1)6032  2)6142 3)6132 4)6134
Which word is coded as 0148?

'0148' e &°& BoHadS HS5E» D6?

1) COIN 2) INCK

3) CORN 4)ROIT

Direction (58-59): In a family of 6 children A, B,

C,D, Eand F. Aand E are brothers. F is the
sister of E. C s the onlyson ofAis uncle. B
and D are the dauthers of the brother of A is
father'

a8 SHenoasns® A, B,C, D, E $8cm F
o3 den Sodh. A Hdan E eo Fsden. F,
E Gog) 25686 B, A &wg) 1380@8 288
Bt E. B 5800 D en A &) Sol&
BB Hdedoen

How is 'D' related to C?

1) Sister 2) Brother

3) Cousin 4) Father

D, C & 9%5:%?

1) &850 2) R

3) 85  4) $ol&

Howmany boys are there?

B’ Do K08 arendd Eeto?

1)5 2)3 3)4 4)2

Pointing to a girl, a woman said she is "The
daughter of the borther of the daughter of the
only son of my grand father". Then How is
girl related to that woman?

1) Daughter 2) Sister

3) Niece 4) Cousin

2.8 aPOB SeHer a8 @\2 S QRS0 3.
S “T° BPEMTD JBE Hrretdd HHsieS LS

UNIQUE STUDY CIRCLE

61.

HEB” wowd & 2dE & B8 Dorhd?

1) %508 2) P56 3) bd&en 4) 888
In the arrangement of letters and numbers
given below first all the numbers are arrange
in the descending order, then all the vowels
are written in alphabetical order and then all
the consonants are written in alphabetical
order then which  element is 7" to the right
of 7" element from left in the new arrangement.
B B @oSen, wEBEwe (BHS® Foesearr
©0B0% ©8fHnEHos® (0 wdbaed
OO sl ©Fsre Bo0oS® (@2 Soarss
SPepon 6o ©Fbsre Bos® (7208 Soars
D5 K008 75 ©FosmdB, HEIDHS 7S ©Fbo
D&?
DSEYMI9I3NP8HU7AK4R
H 2)K 3)M 4)P

Direction (62-64): There are six members A, B,

62.

63.

C, D, E and F in the family. Each of the six
members have two jobs 'Main Job' and 'Side
Job'. D's side job is painting, while other
two have it as a main job. B, E and F have
plumbing as one of their jobs. F's main jobis
electrician which is side job of both C and E.
painting and typing are A's but interms of Job
they are just reverse of D's Welding is side
job of only one of them.

A, B, C, D, E 08050 F en 2.8 Senoasns®
Qghgen % Both DBEwE® Foaw s LHBaw
8 oo DG $HHKes® H BahoiHoE.
D @) & epew Dowodoh HdI» e
owotSordy 6 BES F000S e
BawHogo. B, E 5805 F 0 Hodoh 3o
A& a8 (%(Ssegﬁom god. F @og) dowd e
o@sS $baw © $Y C Hdaw E e
&S FosnHorKd. DowoBoh HB
B30 03D A Go¥) e:&5res 520 @ D Dok
(%CSSegrweJé:» ééé’éééom Bod. 5@05 oS0 2.8
a8 5588 DE erd

What is C's main Job?
1) Welding 2) Painting
3) Plumbing 4) Can't say
C &wg) oS aran dB?
1) 5@05 2) 2anooh
3) Hodoh 3) 50‘60)3?;630
Which of the group have painting as their

mainjobs?
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64.

65.

66.

67.

68.

1)Aand C 2)BandC
3)AandE 4)Eand F

® BEL 550 DooBORK HowS erenre SO
GO o?

1) Aodcin C 2) B 508ai C

3) Aodosw E 4) E %8050 F

What is B's side Job?

1) Painting 2) Plumbing

3) Welding 4) Typing

B &wg) 28 eran a08?

1) 2onodoh 2) Hodoh

3) B@oﬁ 4) 8oh

4356 :256::7985:?

1) 343 2)323

3)324 4) Db

1) 343 2)323

3)324 4) None of these

YORK:GFIB::PUMZ:?

1) GCDH 2) HCDG

3) CDHG 4) None of these
Db

Statement: The Vaccines are tested on mice
before usisng in human beings

Consulusions : I Vaccine show same effect on
human beings

II. Vaccine do not show same effect on human
beings

(BB : TES SodogeH SHBPA0E S0
DB HOGOBLLD

Boyren @ 8IS Hddoges ©d Do
HQ Boswdo

IL. mé‘\)ﬁ ENVISAWIGISY 08 JBS0M H B

1) Only I follows 1) I &oe(5D 563058
2) Only II follows 2) II S8 $BGE6
3) Both I and II follows

3) I 0805w 11 %6056

4) Neither I nor II follow

4) I 50865 11 %655

Statement: The office incharge of company
had a hunch that some money was missing
from the safe.

Course of Action : I He should get it
recounted with the help of'the staff and check
it with the balance sheet

II. He should inform the police immediately.
(B8&S: o8 B0y Bwg) edhidE sl I ‘e
) Dsoare® e%) Seesey &° Eo8 e ESetoes

UNIQUE STUDY CIRCLE

9

69.

S,

B5o8% Sgen: 1) 0dH @AY dapod
B:BH0& Ko B0 $HOH BB hend
BOTTE LSBT,

1) 08 Egessd OB HLErerdo BB
1) Only I follows1) I &m(gsdh $6G058

2) Only II follows 2) I  SeEd
N
3) Both I and II follows

3) [ 5085w 11 $8G36

4) Neither I nor II follow

4) [ 208c» 11 58528

Statement : The successful man has the
ability to Judge himself correctly.
Assumptions’I: to Judge others is useful to
successful man

II) The successful man cannot make a wrong
Judgements

(58S: DesaDH0BDS 08 BIL oK [VOrP
556303 B'ﬁac) ©°2>63tq§fgo EOA Gowrtd.

sede: Daddho 88) 8880 S
D2300H50EDS NG GIDoerio otnod

IT) DeschBoBR0S $oAR BB B8y @SB

1) Only I follows 1) I o083 583058
2) Only II follows 2) Il $(&5 OGBS
3) Both I and II follows

3) [ 508080 11 5803
4) Neither I nor II follow
4) [ 5080 1158305y

Direction (70-71):Find the odd one

70.

71.

A{HXI0re SO BeoHdw

1)34:50 2) 68 : 200
3)73:116 4)89:270
1)KP:39 2)HS: 146
3) MN: 25 4)DW : 29

Direction (72-73):Seven persons A, B, C, D, E,

F and G are sitting on a bench and all are
facing North. There are two persons sit in
between C and G. There are three persons
sit between D and F. There are four persons
sit in between B and E. G is to the immediate
left of D and immediate right of B.

A,B,C,D,EF 60 G o3 7 5% 5Ben
el 9P I3 XS 688 HIMP
HeHHoad C 8 G o iy agth Sghen
Bod. D 8w F o gy Smrpth Sghen
ok, B 580k E o S5y Senrbd Sgden
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o, B 8o E o gy Senrddd d5gen
o, G D % &8p 803D bcin B
B8ge H8IDH BB 0a.
72.  Whois in the middle of the Row
H536° $o0556° ErbD IHE?
1C 2)E 3)A 4)F
73. Thesits at extreme right?
HE DHOM Lty K8 IHG?
1B 2)D 3)E 4)F
74. Which letter is 9" to the left of 215 from left
of I*'half of the alphabet series is reversed
©0)f wgsires® B Sigrrod BT HES°
(RS Sard L0 2185 ©FBEINIL,
NEIDS 985 @FBo d&?
1B 2)C 3)A 4D
75. Ifwe cancelled every second letter from right
in the alphabet series then which letter is 9th
from left in the remaining series
801 @géaéavoé‘s OEBMO HE ol Incden
28 %8 2% ©EBIND SA0NS Edoard
DADY wEStwost A Hod 9% wESo
DE?
1P 2)R )T 4)V
372 s80 | | 9018 |
REE a5 | | 735 |
274 350 \2/
1)432 2)366  3)345 4)482
7 O—®
1) 484 2)540  3)465 4)924
78. Count the number of cubes in the given figure.
& (Bod He08° HodHne dogy dod?
aw
| Tl
1
1)25 2) 30 3)35 4) 40
Direction (79-82) : Read the following information
carefully and answr the questions givenbelow.
A cuboid of dimensions (6 cmx 4 cmx 1 cm)

UNIQUE STUDY CIRCLE

is painted black on both the surfaces of
dimensions (4 cm x 1 cm), greenon the
surfaces of dimensions ( 6 cm x 4 cm) and
red on the surfaces of dimensions (6 cm x 1
cm). Now, the block is divided into various
smaller cubes of side 1 cm each. The smaller
cubes so obtained are separated.

QeSS (79-82) ¢ & (8oh Sdoeareddimdd ae(isme

SOD ©AAIENDH0E (BB SIrEeID0en

ToaEQ.

6 cmx 4 cmx 1 cm &oden EOAS a8

&g@;@m 308 600BH0 0P DI Borben

ST, ©

4cmx 1 cm Soden Ko Sotd 6H0E0Kwe R

Sensd Sotd Sk,

6 cm x 4 cm Soden Ko o tHdELEne

w%:%) Bord T,

6cmx 1 cm&oden Ko Boh GHdEeEne

DB BorH S

Borhen S B S égéa?ézé:oﬁa 1 20.%.

DY) DY) 0 Fodwenr™ DgFBoDS fbé‘gé

How many cubes will have atleast two

colours.

8050 BotH Sompswe Borh Ko HodSmen

aY?

1)16 2)12 3)10

How many cubes will be formed.

S0EH0 ) FoSEwen DB)K?

1)6 2)12 3) 16 4)24

If cubes having only black as well as green

coloug are removed, then how many cubes

will be left.

S50 Botd S0pEe P Sensd HB5D SISO

BotHh BOAS HdSwe é%3%é@w3, DADS

Po350en Q) Got?

1)4 2)8 3)16 4)20

How many cubes will have 4 coloured sides

and 2 sides without colour ?

Q) XD 4 Snzpwe P Sord BOA Hotxe,

2 SwpBwep Sorh SHowe aHN?

1)8 2)4 3)16 4)10

Direction (83-85) : In the following questions
answer are based ont hediagream given
below.
S (Bo8 aSd Do egrdone BHoED
©EIE0H08 (DGO DIPERPIB0e ToaERW.

79.

4)8

80.

81.

82.
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83.

84.

85.

86.

87.

88.

9.

90.

UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

BAC=?

1)95 2) 15 3)75 4) 100
A-Bu(C)=?

1) 40 2) 55 3)70 4) 85
A' uUB=?

1)10 2)175  3)150 4)70

Select the correct combination of
mathematical sings to replace * sign and to
balance the given equation.
D KBS HGes * 5(;260@58 GODBEIONS BN
30880 KBWONHH .

2%4*3*%4%9
D+-=+ 2) + X = -
)X+ -= 4) X - + =

If 27 March, 1995 was a Monday, then what
day of the week was 1 November, 1994 ?

o8 3¢ 27 S8y 1995 03 dHardo
SNVowd 1 SHowb 1994 BHS O e

50?
1) Sunday 2) Monday
3) Tuesday 4) Wednesday

If January 1 is friday, then what is the first day
of'the month of March in a leap year ?

2.8 3% 2.8 Y éoéé‘béo@‘s 2550 15 86 &
HEarbo wond, ©& éoée‘é‘\)éo@s Q) 18
86 O &% S

1) Tuesday 2) Wednesday

3) Thursday 4) Friday

How much angular distance will be covered
by the minute hand of a correct clock in a
period of 2 h 20 min.

2.8 %8 ®ond KRrE0SEd QK0 S0 2
Kote 20 IDRSne JSHchost AR &lhe
B850 (HASTBoHE?

1) 140°  2)840° 3)320° 4)520°
At what time between 4 and 5 0'clock will
the hands of a clock be at right angle.

4 Kotren& 5 oot 263&5?3 JHocos® Bot

UNIQUE STUDY CIRCLE
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91.

92.

93.

Sooghen &) doaho zécg ©028%05n &o%Hd?

3
1) 30 min past 4 2) 16Z min past 4

2 .
3) 38ﬁ minpast4  4)33 min past 4

In each of the followin questions, find out the
answer figure which completed problem figure
matrix.

& 8o B B D Heosw G Sr@E
Jr8oHo.

Problem figures

=/ J
5

=
=

=

<=
<=
?

it 04

Answer figures

g |00t | = |00

@ (b) (d)

How many parallelograms are there in the
figure given below.
& (808 Heod® $Hross S&EYesne0 ?

o)

5|10

1) 14 2) 15 3)18 4) 16
How many triangles and squares are there in
the figure given below.

s Bod H608° (BeHazsimen £HBAMESHB(KS0e
éospg Q0&?

1) 28 triangles, 5 squares
2) 24 triangles, 4 squares
3) 28 triangles, 4 squares
4) 24 triangles, 5 squares
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95.

96.

97.
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Mr Raghav went in his car to meet his friend
john. He drove 30 km towards North and
then 40 km towards west. He then turned to
south and covered 8 km. Further he turned
to east and moved 26 km. finally the turned
right and drove 10 km and then turned left to
travel 19 km. How far and in which directionis
he from the starting point.

Mr o508 9030 5266° 85 98reed @and
S BodTedd achd $9) & Sob dfore
(DSPBoB. 0S5 Inderr GB35 BIS® 30
8.8, BB (KBSm0, BoRE HES e%5st
40 8.5, 80 (HPeBoR. BoxB 08 B
&¥° 86A 8 8.8, Ko (HErBoBD. Bos
8 Erdy) OIS 80A 26 &.8. =80
(DrBoBL. SoogE wdH HE IHIH 80N
10 8.2, &80 BP0 DHOMT BRI
80A 19 8.8, &0 (Hasrdod & Higdso
DEHEI0. owd (@G0 3(;260 Hod ﬁ:ﬁag@;:éo
D BIES Do LS’ Lerkr?

1) East of starting point 5 km

2) East of starting point, 13 km

3) North east of starting point, 13 km

4) North east of starting point, 5 km

Town D is to the west of town M. Town R is
to the south of town D. Town K is to the East
oftown R.Town K is towards which direction
oftownD ?

&5 D, M $% 5558 6385 Soh. &°5 R, D
I8 K8 88 Soh. 8 K, R Er8)
&ES Botdh. &S D bl el zﬁ:ois_\g &S K&
BES Beth?

1) South 2) East

3) North-East 4) South-East
Choose the smilar one from giveng following
alternatives.

&5 (808 IS A EoRPKrSm.

O OO u
o oOin_ C
I u
< Qi o[ o Ufo Sic o[ BiE U[lo o o
O 0> o oo c|o O o o nje o <
@ ® © @ ®
l)a 2)e 3)d 4)c

Which of the following diagrams best
represents the relationship among uttar
Pradesh, Kanpur,Jaipur.

UNIQUE STUDY CIRCLE

98.

99.

12

100.

SEHSHTS, oG, Beeb

1)69 2)

O A

4)D

3) @O

Direction (98-99) : In these questions, relationship

between different elements is shown in the
statements. The statements are followin by
two conclusions.

J0o8S (98-99): &8 (8ol ad)S Jlreardo egrdore

O8RS (HEHOB JHrERSSnen TeeenLn.

1) If only Conclusion L is true

2) If only Conclusion Il is true

3) If either conclusion I or I s true

4) In neither Conclusion I nor Il is true

5) If both Conclusion I and Il are true
Statements : U>A=1 < O<E
Conclusions: ) I < E mHo>u
1)d 2)c 3)a 4)e
Statement: L=M > N; M>P; L<K
Conclusions : [) K>P HN<K
I)a 2)b 3)c 4)d

Four positions of dice are given below. which
letter will be opposite to D.

2.8 PO Go¥) Teenrd Heakmen (8ol BdEo
23838, @ond D 3% 0t 5526068 Ko wgbo
d6?

IIY
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288 HAT

101.

102.

UNIQUE STUDY CIRCLE

Ambedkar is associated with

1) Depressed classes institute

2) Independent Labour Party

3) All India Scheduled Castes Federation

4) Peoples Education Society

Select the correct answer using the code given
below.

1) 1,2 and 3 only 2)2,3 and 4 only
3)1,2,and4only  4)All ofthe above
©08E558° whaogo &) $0%: 1HgoBes?
1)eoeareds S8 ‘éog

2) B0&oR0eS Sab %é

3) &S Bolair WETRTSIRY DEBHS

4) HHS) AEFRS P

BI9% 1D BEI GD@PA0D IBS SSreraed)
DoHEos?

1)1, 2, 8% 3 2) 2, 3 Hdcsw 4

3) 1, 2, 06D 4 4) IR

Lord Canning served as governor general of
India from 1856-1862, but also served as the
first viceroy of India during that period. How
can this be explained ?

1) He was a former secretary of state who
was allowed to hold dual positions of power
in British India.

2) The Government of India Act 1858 was
passed in his tenure.

3) He passed legislations with the help of the
Central council to assign the position of
viceroy to the governor general of India.

4) Canning was given the title of viceroy for
the exemplary administrative work done under
his tenure in India.

o s°Q0R 1856-1862 $8%H gr8saz8
KIB)E e3BST B Boeth. wand wsreod®
PSSR I8 Insd JEedore S HARTE.
8550& e DHBOBHEY).

1) 08 DER 208c5rs® 08 ©hss

13

103.

104.

DEH BOA 08erd8 o808l Sl
ooy 585N

2) grdd (98h& zﬁ%o 1858 @& rcHos®
IR vlalotat-wintelal

3) 11580 2:565% Fzedd HEDA Berawoseeds
oS TS B5cH08° 0B FESIE Sepod
R vlalelnilat)

4) 9% scoost @é@__azé $0Frod HJ8%0
5°00h% F(Eedo A adwiod.

Match the following.

List-1

(Newspaper) (Founder/Editor)

A) Voice of India - Dadabhai Naoroji

B) Sudharak - Gopal Ganesh
Agarkar

C) Swadesamitran - G.Subramania lyer

Which of the pairs given above is / are

correctly matched ?

1)1 and 2 2)2and3

3)1land 3 4)1,2and 3
28HBHIW?

1) srond &5 80&dr - mroreron P&

2) Jogess - RarS K68 ored)s

3) JgBE MBS - Solsioeag @igb
BRRED 2SSt DO Lorp 5828006,
1) 1, SH8c%» 2 2)2 085w 3

3) 1 dcsm 3 4) 1, 2, So08c%w 3

Consider the following pairs.

Social Reformer Works

1) Sarojini Naidu -Amar Jiban (My life)

2) Rokeya Sakhawat

Hossain -Sultans' Dream

3) Rashsundari Devi - The Golden Thresh
old

Which of the pairs given above is / are

correctly matched ?

1) 1and 3 only 2)2,only

3)1,2and 3 4) None

agost Kool HOKBoS0A?

K05 éoé&é BS5Kden

1) ¥&6°20 measndd - 058 Bees (T°
£%0)
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105.

106.

2) 8°8cie NHE FORYS - DerTese

3) o8 osd BD - BRTBS GRS

2% apas wdes® 2 JOrp KOFOoH?

1) 1, 5850 3 2) 2,50°(855%

3) 1, 2,580 3 4) ek

Consider the following statements about Quit
India Movement .

1) Quit India Movement was a corollary of
the failure of the Cabinet Mussion Plan.

2) The first half of the moverment was
peaceful with demonstrations and processions
3) A significant feature of the quit India
Movement was the emergence of what came
to be known as parallel governments in some
parts of the country.

Which of the above statement (s) is / are

correct.
1,2 21,3
3)2,3 H1,2,3

8:¢5 moBasr €50 BN (Bod (BEEHOK
$H8K5BoB0&?

1) %565 Elelatovu i Taitael S‘g&?)és O
SPe8 HBeFsv0

2) 1%6552530 @wégy BB HKo @65682603 pRlalovsy)
&30A0HOE’ FPodAMSOT Sob.

3) %56'5_ HOBAT® G550 BwE) SnggRd ©Fee0
380 &) [Frozres® Sirods (Habareore
200506 6:93)0';3560

2 QDo Db $BB.

1,2 2)L1,3

3)2,3 4H1,2,3

Consider the following statements about
Indian Home Rule Movement.

1) The Home Rule Movement was the Indian
response to the first world war.

2) Anglo- Indians and most of the Muslims
supported Home Rule.

3) Russian Revolution of 1917 had an impact
on the Home Rule Movement

Which of the above statements (s) is / are
correct.

1,2 2) 1, only

14

107.

108.

3)1,3 4)2,3

BORONS TR0 B G50 HBoN & (Eob
BEes0% HBKBoS0A?

1) 3R 8BS &5tissoo I (©H0S 0‘533655‘\)%
Eulet2 Tovon) (D88)0SS

2) @OTE — BOBCHS LB TPer Kok KOO
TrOEPSE HZH BTN,

3) 1917 845 dPFo TeHErS igEoR
(DegrH0o SeHok.

2 QDo D& ¥BI6?

11,2 2) 1, $o@

313 4) 2, 3

The swadeshi movement encouraged the idea
(s) of.

1) Self-help and self- dependence

2) National education

3) Use of Indian languages

Which of the above statements (s) is / are
correct.

D1, only 2)2 and 3 only
3)1,and 3 4) All of the above
38 estisso &8 (Bob a8t @FEErodot.
1) $3afho - BP0 HBANRAH SHeEs

2) erdch D

3) gP8RADH grHe TEBo

2 RE Dofod® 9B $BID

1) 1, S5 2) 2,580 3

3) 1, $060 3 4) 2HYA

The campaigns and associations before the
establishment of India National Congress
were.

1) Against Vernacular Press Act

2) Against Arms Act

3) Against reduction in minimum age for
appearing in India Civil service

Select the correct code.
1,2 2)2,3
31,3 4H1,2,3

GBS 2PHOSH sPoR PDHIE 0ot (Heeeen
0805 dogren.

1) So2Eged @R Hepdd Eéegé’éééom

2) escsne Sepd8 Sg&TEore
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109.

110.

3) 20800 DS &65&65 Festh 258 8O
EJovitSv| é@o@é; zéeg@ééom.
28 856 dostod.

1,2 2)2,3

3)1,3 41,2,3

Consider the following centres of 1857 revolt
and the leaders.

Centre Leaders

1) Delhi Nana Saheb

2) Lucknow Begum Hazrat

3) Bihar Khan Bahadur

4) Faizabad Maulvi Ahmadullah
Select the correct code.

1,3 2)1,2,3

3)2,4 4)2,3,4

1857 &Srberen Gws) 8od Solmren S8k
PN HOKRBoBoR?

Bo(%o TPOHBoeN

1) &9 - PP TS
2) @%501 - Bifo P&
3) D8 - g8 aseErs

4) el - SO wseHer

$88 &6 doHebod.

1,3 2) 1,2, 3,

3) 2, 4 4) 2, 3, 4

Consider the following statements regarding
pandita Ramabai.

1) She set up the Brahmo Mabhila Samaj in
poona.

2) She brought out a book in Marathi stree
Dharma Niti.

Which of the statements (s) given above is /

are correct .
1) 1, only 2)2,only
3)Both 1 and 2 4) Neither 1 nor 2

S0l Sdrerond Joxohod & (Sod
(Kb $08D0K0s

1) o3 Jpoed® (28 Horye $Srerl)
(5(;330{’30&.

2) 8 Hovoes® § §8) I8 0D Hygo B
IS’ BY)ob.

11 S 2) 2,50°(855%

UNIQUE STUDY CIRCLE
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I11.

112.

3) 1, 0852 4) D&z

Thomas Munro gradually extended the
Ryotwari system all over south India because
1) There were no traditional Zamindars in the
south.

2) The land in the south was not as productive
as that of Northern India.

3) Land holdings were completely
gragmented in the south necessitating
individual clearance of land revenue.

4) Agriculture was still traditional in the south
as compared to the Northern india.

R DS [Eore B8 erE8ETo woser
BB 535850 DYBoTED.

1) &58esesd KHo(drad adbomed) le)

2) SBerhSE grd &85 FrSEBTo I &
Bi8ore B

3) &b eraho BwE) 58K 8058R) @kd80
sl g JQofen &8eenS® Hrom
8)?5&05333(350)3.

4) 688 erB5B 508" 0D, Bras® ssdraho
B)B8 Yodrrahore Gob.

With reference to Medieval India, Consider
the following statements about babur.

1) He was the founder of the Mughal Empire
in India.

2) He wrote his memoirs Tuzuk-i- Baburi in
Turki language.

3) His son Humanyan was the first Mughal
ruler to use cavelry and artillery in a war.
Select the correct answer using the codes

below.
1) I and 2 only 2)2 and 3 only
3) 1 and 3 only 4)1,2and 3

oo PESB8 K020080D e HBoDS
Bod (HEeI HBKBoSoR?

1) 085 PSSR0 Insnd ﬁ"-’@f’a’ﬁé an’né)c‘fo
2) ©8K 35 e 08) o%iS® Her§ -
a- b [Tear.

3) o‘iwc‘éoés @%‘Sécﬁg’o K000 dBoAD &
SBrA0DS NGB I0HS aredr ©E
B350t FoK0e0reR
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113.

114.

1) 1,5080% 2 2) 2,060 3

3) 1, 08c%» 3 4) 1,2, 080 3
Consider the following about the samkhya
school of Vedic thought.

1) It does not consider the existence of God
as relevant to human life.

2) It believes that only consciousness exists
and matter is illusion

3) It emphasises on meditation and
contemplation to realisation

Select the correct answer using the given

codes.
1) 1 and 2 only 2)2and 3 only
3) 1 and 3 only 4) 1 ,only

368 ©8%3% S0 rogy BT HB0D L
8o & HBKBoBSoR?

1) a8 3HI &S Irdd £e°d8
K020050DI8M HORB0HSLH

2) B0 ERED G0 SO HTYo (g
Q) $X&0d

3) 1b grgdo HBASW @g@&m@& %809
Benod.

aS Eod eI@PA0D IV SErEeTed)
DoHEPR.

1) 1,5080% 2 2) 2, Hds» 3

3) 1, 5Bck 3 4) 1, S

Most of the Gupta kings encouraged

1) Brahmanism

2) Religious education of women

3) Equal treatment of all varnas

Select the correct answer using the codes
below.

1)1, only 2)2 and 3 only

3) I and 3 only 4) 1 and 2 only

oer 5008 ) Toeren BV (ESZPomedD.

1) @P@&mé&o

2) SoerFe HBDHBIS DS

3) @) éc(goéo JXeIS DES)

BB $LreEee) doHs ol

1) 1, &85 2) 2, &8 3

3) 1, Hdcd» 3 4) 1, L0605 2
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Which one of the following Upanishads talks
about the childhood of lord Krishna for the
first time ?

1) Katho Upanishad

2) Mundaka Upanishad

3) Jabala Upanishad

4) Chandogya Upanishad

Bobd edANKeS® D& s Jore U
ere0 HB0D SrerthrEod?

1) 8% 6008 2) $woiE® DX

3) were GHIR® 4) aﬁoﬁ’sﬁé SSRGS
Assertion (A) : Unsaturated fats are more
reactive compared with saturated fats.
Reason (R) : Unsaturated fats have only single
bonds in their structure.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

D@)Baegso (A) : 260@%6_/30 §°Z>§)°ge>§8 @‘5'@‘5_\%
0308 EHRen BN (BasrEBorr sotrar.
&P (R) : o088 e & Joowos®
Q8 pogredn DA Gotrow.

1) (A) %080 (R) &0 Botd a@dH0 SoBasn
(R)(A) & 258G 5860

2) (A) S8 (R) en Botd a0 520 (R)(A)
& SO DHBE S

3) (A) 350 (R) 0550

4) (A) oa35850 (R) ard5s8m

Which one among the following statements
about blood transfusion is correct ?

Blood group B can give blood to.

1) Blood group B and receive from group
AB

2) Blood groups B and AB and receive from
group B

3) Blood groups B and AB and receive from
group A
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118.

119.

4) Blood group O and receive from group B
BE5r0)& 00D [Bod S° $BIH D6B?

B -85 $%o Ko &8 8520) 2508 assyly).

1) B &5 %0 5800 AB 85 550 68 a5%%)
odci» B 88 $Bo Kool So(850 Ho88
2) B &g %o 58050 AB 88 &80 68 aii)
Sodcin B 88 SBo Kool So(850 S8 0.
3) 88 Zétéo B 08050 AB8 B3R 0B A
8% 8o Ho a0 o& B80S

4) 88 $80 0% adysy) 88 o B a0 Kol
Bro885:%)

The sensation of fatigue in the muscles after
prolonged strenuous physical work is caused
by.

1) A decrease in the supply of oxygen

2) minor wear and tear of muscle fibres

3) The depletion of glucose
4) The accumulation of lactic acid
‘(03{53@26 BSE (Fo Boo® Sodorod® wede
@088 Beniriherdd se8ee0?

1) oS $85Tros® Shise

2) Bo&8 Brhen VIR V8HE

3) Kirs*E &eas

4) e85 siio Hroodsto

Assertion (A) : Drinking of whisky increases
the frequency of urination.

Reason (R) : Alcohol intake speeds up the
secretion of vasopressin in the body.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4)(A)1s false (R)1is true
D@)BarEso (A): D) &eriso g Sl 3)6(326
B, (HBR) DEHH0H.
D) (R) :wepS 808550 S0 88808
TR RS PR SKSos0o Fkob.

1) (A) %805 (R) ev Botb aeks0 58050
(R)(A) & 2805 d8ea

UNIQUE STUDY CIRCLE
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120.

121.

2) (A) $8c (R) &0 Botd a0 =2 (R)(A)
& SO DHBE S

3) (A) &350 (R) o050

4) (A) oxs55 (R) avgs80

Due to contraction of eyeball, a long sighted
eye can see only.

1) Farther objects which is corrected by using
convex lens.

2) Farther objects which is corrected by using
concave lens

3) nearer objects which is corrected by using
convex lens

4) nearer objects which is corrected by using
concave lens

é?éaﬁ)cf&) 508550 Bodo Hod 5?}3 Sy By
DAY LB Sreseo?

1) Bogrsed 8680 &HTeA0D é@&tgaa&:é fabite]
Seo

2) HeFseE Ee80o GODPAODS é@&c‘gaaézé [aviel
S3Hen

3) B0grse8 Béosren &H@BPA0D é@&cgea&é
556 Siosden

4) Herse8 Bérseen SITA0D é@&cga)&é tﬁ?(j@
Se0

Even though an animal is fed with
carbohydrate-rich diet, its blood sugar
concentration tends to remain constant. This
is one account of the fact that in the case of
an animal.

1) Hormones of pituitary glands control
metabolic process.

2) Hormones of pancreas cause such a
condition

3) Blood sugar is readily absorbed by the
liver.

4) Glucose undergoes autolysis

20HHSH SEYP(Ee) wHsore Got w0
BIHB8, o BoS® KB JrolBss dore
&OENOB.

80 28 22085 JHchost TPRN0 QOLHED.

1) ?gemegéoé (oo 8/3"88&5‘6,, Qaodo|ges
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122.

123.

2) 5‘;?;632.6;) cﬁné& KPSS&@ B8 se8e0

3) B0 TS 6§068?0 63&6 Soegfornr
fefeilent-wtatlc Veta)

4) 58S 3ch DDBE S*8HEok
'Metastasis' is the proces by which

1) Cells divide rapidly under the influence of
druge

2) Cancer cells spread trough the blood or
lymphatic system to other sites of organs

3) The chromosomes in cell nuclei are
attached to the spindle before moving to the
anaphase poles.

4) Cancer cells are successfully inhibited to
divide any further.

33@@3?05 &% &2 TRo° 23O,

1) Blgre (HerH08® Seren Jfore Dgse8ron
2) 952605 Segren B0 S 885 éé?éé oxo°
BEE ©IHTeB TgHIOW

3) Bt Sored® E"aratine ol FSH
3%25330&3 tablesist) e—9é§.‘>§527© GOsTQD.

4) 52585 Seren DHooE DeRosTedE
DeschSosore IBEHoSEeEron

Match the following.

List-1 List-1II

A) Tse Tse fly 1) Yellow fever

B) Aedes mosquito  2) Sleeping sickness
C) Warer snail 3) Bilharzia

D) Sand flies 4) Kala-azar

1)A-1, B-2, C-4, D-3
2) A-3, B-1, C-4, D-2
3)A-2, B-3, C-1, D-4
4) A-4, B-2, C-3, D-1

QBHBIHI0?

erder-1 -2

D) H-D-&K 1) @éj aa(séo
D) QARG 2) HofR EID
2) H8 88 3) 2gddir

&) ro& &S 4) seer eerd
1) 9-1, 8-3, 2-4, &-3

2) 2-3, -1, -4, &-2

3) H-2, -3, d-1, &-4
4) -4, H-2, -3, &-1
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124.

125.

126.

Kerosene oil floats on water because.

1) Its density is greater than the density of
water.

2) Its density is less than the density of water
3) Its density is equal to that of the density of
water

4) None of the above

86%8 D8P Bendod JoKH?

1) & Jol5s o8 &Y Jrolses DEND

2) 8 JolBs OB Jeol$s EoB SEH &
(o1 vileln)

3) & FolES B JolBsH Do

4) 23D

Which of the following statements are correct.
1) The temperature of the gas remains
constant

2) The gas does not take any heat from the
surroundings

3) The internal energy of the gas remains
constant

4) The pressure and volume of the gas remain

constant

Which is the correct answer?
I)2and 3 2)3 and 4
3)1and3 4) 1 and 4

DFEES (HBAHS® BodTEE® DY TBXD?

1) aeasngd Go8) e JBore eotnod

2) TS0 HBITee Krod J&Q &8s

3) S0y GoE) WoBEE EE BB &0enod
4) P30Y cfbaégyé)é:éo B HBOS IR0 ?36on°
6OENOH.

1) 2, $o8c%» 3 2) 3, obcsw 4

3) 1 Sobcs» 3 4) 1, Hdcsw 4

After long periods of use, a grey spot develops
on the inside of a bulb. This is because

1) The tungsten filament evaporates and
collects

2) The heat of the bulb scorches the glass at
the top

3) dust inside the bulb condenses on the top
4) Glass undergoes a change due to the heat
Kwé?})@oo EHTPACDS SHard of) &°HD
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127.

128.

129.

508t & Boih o) bégé)éao& Q0oLBHE?
1) éaoﬁé% OO BB

2) wey) I& e SoGoH

3) 28 &% %y P grrios® 50085008
4) 3& soBeore e 2530630) B0EHH0H
Rainbow formation is due to.

1) absorption of sunlight by water droplets
2) diffusion of sunlight through water droplets
3) ionisationof water droplets

4) refraction and relection of sunlight by water
droplets

BO(EEH) WB)EErA8 s°Eea0?

1) 98 oo apNel mé?g 5008 ({00

2) & HoHHe apNel "(\W(S?S?o@ %58

3) 98 DoHHe wcHdEBeo

4) 58 DorHe ek :60'°6§s"°o® o‘j’oaé&
S50 S8 (H&Qomo

X-rays are.

1) Electromagnetic wave

2) Electromagnetic wave of short wave lenght
3) Electromagnetic wave of long wave length
4) None of the above

X - 88ezeen @DNIN?

1) Qéaécﬁcjéa@&oéé BBorveen

2) ﬁ°§ 38 PED ), &d}éédﬁ)ﬁ&oé Efelelate
3) é)g SBois PED g @éaécﬁoﬁoéfgoéé &Boso
4) 239 =D

Which one of the following statements is not
correct ?

1) Sound waves in gases are longitudinal in
nature.

2) Sound waves having frequency below 20
Hz are known as ultrasonic waves.

3) Sound waves having higher amplitudes are
louder.

4) Sound waves with high audible frequencies
are sharp.

Bobd JFDoKes® SOTHH 56 B?

1) arcodes® §Q Sdorren Tgrodore &
O8POoW.

2) 20Hz %0& EENS 3"682@?650 EONS 5D
Borred s(epRtis dsorren ©otrd.
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130.

131.

132.

3) ©H8 B 80N 6J) Borren esé@ﬁom &
08P0oD

4) o8 QK 3"26@2650@8 Er&S SBorren
HEHISD

Consider the following statements.

In a nuclear reactor, self - sustained chain
reaction is possible, because.

1) More neutrons are relased in each of the
fission reactions

2) The neutrons immediately take part in the
fission process

3) The fast neutrons are slowed down by
graphite

4) Every neutron released in the fission
reactioninitiates further fission.

Which of'the above statements are correct ?
1)1,2and 3 2)land3

3)2and 4 4)2,3 and 4

Bod (HEeI HBKBoSoR?

@s@@dﬁavggés Beaho ABosE Frendo @’Jéiﬁé@g
5%5233) DotHE0E

1) ($8 NG D8SEg0S® s Bogery
Qo BeHTo0W.

2) Loy oS AN e oN FEoera.
3) SHBoEZS SwglerSy, (PR @ogoe
JdyBoSertieeon.

4) DYBE® QDB (58 SrgerS (HBSEg B0
QNE (@B00B.

1)1, 2 8a%» 3 2) 1, 0o 3

3) 2 Xoboiw 4 4) 2, 3, B34
TV remote control uses

1) infrared frequency

2)radio frequency

3) Visible frequency

4) Ultraviolet frequency

B 83¢5 ZoE*SS® &HBrAoBID.

1) aS@38 $80)

2) BE@> (3R

3) dRenS L&ﬁ)gogﬁb

4) 98de S5re @33‘5@‘3

The kinetic theory of ideal gas predicts that
the total KE of a gaseous assembly depends
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133.

134.

on the

1) Pressure of the gas

2) Temperature of the gas

3) Volume of the gas

4) Pressure, temperature and volume of the
gas

8iY) A BwE) KB=dE durodo &Pk
33y¥do Bng) wgoKE $obd a3
SHENK?

1) aecsnsd Hisdo

2) Tain EE), SRPKS

3) P50 cﬁwé& HBHPE0

4) d&So, BREHS HoBak0 TaHo HBLTEO
Assertion (A) : Solutions are a homogeneous
mixture of two or more than two components.
Reason (R) : Homogeneous mixture means
its composition and properties are uniform
throguth out the mixture.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

ABErEso (A) @ ([Trderes ©ID Tol S
©0SE0E BN Serdah D|Esmen

&Y (R) : Serdod DEro eodre oo WepSy
S8 Hozneaden oFHo Indo HEBB &

oo,

1) (A) %805 (R) eo Bob aeis0 8050
(R)(A) & 8@ d8ea

2) (A) 08 (R) en Botd %0 =20 (R)(A)
& $OF0D DSBes S

3) (A) %0 (R) e@aedssn

4) (A) 3550 (R) argd&m

The following are some of the properties of
the colloidal sols.

1) Tyndall effect

2) Brownian motion

3) Maxwell distribution

20

135.

136.

4) Vander waals forces

Select the correct answer using the codes

given below.
1)1,2and 3
3)land 3

2)1land 2
4)2 and 4

Feronid HurTre oFere.

1) o (Hgrdo
3) éPg‘\Bé Ho2d

2) [EPA0HS Fodo
4) 206 TSy ered

808 a@aS G0 &3Brhod $BI

DEreraed) DoHEod?
1)1, 2, 650 3
3) 1, Sndc» 3

2) 1, Hdcs» 2
4) 2, Hdsw 4

Which one of the following is a reduction

reaction.

1)2Mg(s) + 0O, (g) » 2MgO (s)
2)S(s)+0,(g) - SO, (g)

3)2 HgO (s) i, 2 Hg (1) + O, (¢)
4) Mg (s) + (s) - MgS(s)

& (Bob S° Db T Ve 585,
1)2Mg(s) + 0, (g) » 2 MgO (s)
2)S(s)+0,(g) » SO, (g)
3)2HgO(s) =, 2Hg (1) + 0, (2)
4) Mg (s) +(s) » MgS(s)

Match the following.
List-1

(Element)

A) Sulphur

B) Phosphorus

C) Lead

D) Silver

1) A-2, B-4, C-1, D-3
2) A-2, B-1, C-4, D-3

List-1I

(Highest Valency)
1) Five

2) Six

3) Two

4) Four

3)A-3, B-1, C-4, D-2
4) A-3, B-4, C-1, D-2

RBHBHX0?
erdze-1

Q) é@q}g

) wé&éo
) 8&

&) 08

erdze-2
1) &%
2) e
3) 3ok
4) Jeeni®d

1) 2-2, -4, d-1, &-3
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2) d-2, H-1, d-4, &-3

3) -3, -1, d-4, &-2

4) -3, -4, -1, &-2

The following are enshrined in the preamble
of the constitution of India.

1) equality of status and opportunity

2) Liberty of thought, expression, belief, faith
and worship

3) Justic - social, economic and political

4) Fraternity assuring the dignity of the
individual

5) Unity and integrity of the nation.

Which one of the following is the correct order
in which they apear in the preamble.

1)5,1,2,4,3 2)3,2,1,4,5
3)3,1,2,5,4 41,2,4,3,5
& (0B gr8&  Sargo (S SBEeS®

EPOHHB ST,

1) Trorae HOC5w edsPare DXTHSE0

2) @685, $5855m, Ssyso, Dago HBA
STES 750‘5:5‘3

3) ;ETRE, ©hE HOKw Tresdch Fgaho

4) PBerHo Hg8 @) 8IS G5t

5) Bdo @w¥) pE¥ O SHKS

Bod RSt {BS (BEdosw HBES® eyh.
1)5,1,2,4,3 2)3,2,1,4,5
3)3,1,2,5,4 41,2,4,3,5
What is the correct choronological order in
which the following states of the Indian union
were created or granted full statehood ?

1) Andhra Pradesh ~ 2) Nagaland

3) Maharashtra 4)Haryana

Select the correct answer using the codes
given below.

1)1,3,4,2 2)3,1,2,4
3)1,3,2,4 4)3,1,4,2

g8 CHroHSE 8od oolefen QRoseds
Soe 510 TR EQY0DS SeoESmrso
A&?

1) soBHES 2) Sereerol
3) :;63{50@@ 4) Seoege
1)1,3,4,2 2)3,1,2,4
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140.

141.

3)1,3,2,4 4)3,1,4,2
Inwhich of the following years, the Citizenship
Act, 1955 was amended ?

1)1986 2)1992 3)2003 4)2005
Select the correct answer using the codes
given below.

1)2,3and 4 2)1,2and 4
3)1,2,3and 4 4)1,2and 3

Bod & BoHBBos® FPBLSS $Qo 1955
J5BoBe&od?

1) 1986 2) 1992 3) 2003 4) 2005
BIHD B3@ES 8o edBrhod $BD
Qo) DoHstod?

1) 2, 3, B 4 2) 1, 2, 060 4
3)1, 2, 300w 4 4)1, 2, 8% 3
What is the correct sequence of the following.
1) Scheduled castes order

2) Untouchability offences act

3) Protection of civil Rights act

4) Scheduled castes and scheduled tribe
(prevention of Atrocities) act

Select the correct answer using the codes

given below.
1)3,4,1,2 2)4,12,3
3)1,2,3,4 4)2,3,4,1

Bod &S KBS (Edo DWA?

1) egd Here ©8d

2) ©oLTed &0 Jore SHo

3) 8 T8N BEes &0

4) 'z’qc‘éav?geg Seore HodAS» ?Q(‘éo?gez Ko
(@@?Smmo Q&858) z‘Séégo

808 a@aS G0 &3Brhod $BI

e Jodsiod.
1)3,4,1,2 2)4,1,2,3
3)1,2,3,4 4)2,3,4,1

Consider the following statements.
Directive Principles of state policy are.

1) Not amendable

2) Not enforceable by any court

3) Fundamental in the governance of the
country

Which of the statements given above are
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correct.
1)1 and 2 2)1and3
3)2and 3 4)1,2and 3

808 (D8Il HBKV0L0E?

©G8E  L(zeen

1) J35803BAK8 505

2) afgo‘ia@;;éoé eooen B

3) B8 oS (FrEs DO

28 adies JEDoles® D& $TI6

1) 1, So8csw 2 2) 1, SHdcs» 3

3) 2 HdA%w 3 4) 1, 2, 08050 3
Which of the following are fundamental Duties
ofan Indian citizen according to Article 51 A
of the constitution.

1) To believe in socialism, secularism and
democracy

2) To abide by the Constitution and respect
the National flag and the National Anthem
3) To protect the sovereignty, unity and
integrity of India

4) To preserve the rich heritage of the
country's composite culture

5) To help the poor and weaker sections of
the society

Select the correct answer using the codes

given below.
1)1,2and 3 2)2,3and 4
3)3,4and 5 4)1,4and 5

8od &8st U%‘goﬁo@sfo B85S 51 @ (8o
gPBEADH TP ([FEE oen DD?

1) ¥Hdez0, DEygedo O @6@3‘3&630?33&
DERosLo

2) Trergorel8 Sinad, ePHOH Bore LHBSH
B Aerd) FERosEo

3) eSSBS FPEF TR 80858, SoHiE%
S0

4) B¥o RBoog) M(FH Jodpd Do) 7))
TEITAR) SO0

5) $5re08%) D DO pedrd Hore
JBoho Boho.

BB $XreeR) DoHs od.

1)1, 2, 5850 3 2) 2, 3 ndcdw 4
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145.

3) 3, 4,5080% 5 4) 1, 4, 085w 5
On receipt of a constitutional amendment bill,
after passing by each House of parliament,
the president.

1) Shall give his assent

2) May give his assent

3) May withhold his assent

4) May return the bill for reconsideration
orersolf 538 Degd VBB S,
FPTD0otn 60D Hgfen BRPRHODS SBard,
TR0,

1) 5 ®ohsedo Beard

2) @82 HYBY BEBD)

3) ©8 ééa&@@ 50833305326?533

4) 508058 HoHdH)

Which of the following are the principles on
the basis of which the parliamentary system
of government in India operates.

1) Nominal executive Head

2) Vice-President as the chairman of the
Upper House

3) Real executive authority with the council
of ministres

4) Exective responsiblity to the lower house.
Choose the correct answer from the codes

given below.
1)1,2and 3 2)1,2and 4
3)1,3and 4 4)2,3 and 4

FEEBE0S A FEFH0ed (Hehesy $558 & (Eobd
F&S O Srlere egrdore $O Fkyod?

1) o035 @Qéﬁé&g & (©°g58)

2) AHS DL YT REgH

3) Soole SooKd&b Qa3 S°6§EOU°§KJ°§
[Stalciteto)

4) BIHS S8 SBRTRE weisS

1B BLregrard) Josiod.

1)1, 2, 08c%0 3 2) 1, 2 &b 4

3) 1, 3, Sobcsw4 4) 2, 3,000 4
Which of'the following are considered as the
parts of the basic structure of the Indian
constitution.

1) Republication and democratic form of
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government

2) Secular character of the constitution

3) Division between fundamental Rights and
Directive principles of state policy

4) Federal character of the constitution
Select the correct answer using the codes

given below.
1)1,2and 3 2)2,3and 4
3)1,3and 4 4)1,2and 4

Bod 8 D& D ToaEgor (@PEE
Sclgeaoe?s FPrrenre HOKB0ELE0H?

1) GKJ@'SSKJS B (80 BwE) @mt@fgéa?g
&0

2) U%Tgoﬁo &mé& S°88 {egrao

3) Tolafe (@PHDE PN SOk 688 e
zﬁacﬁeg Defesd

4) O'°83'°?SO?§O (Bwézr é:ﬁ;wgpeg ©Fe0

1) 1, 2, 08c%w 3 3) 2, 3, B 4

3) 1, 3, ndcsw 4 4) 1, 2, 0bcw 4
Which of the following are the unitary features
of'the Indian constitution ?

1) States not indestructible

2) Noe equality of state representation

3) Emergency provisions

4) All - Indian services

Select the correct answer using the codes

given below.
1)1,2,3and 4 2)2and3
3)1and3 4)2 and 4

8o &S grss U%‘goﬁo@'sﬁ) ééée)éé oBeed
AD?

1) Tolgpen 880 BahBAB

2) @L%:q @@@655068 Sho) HXPSE0

3) @é?gzééé Qayosden

4) 0o grES Hden

B adwdd S8o eIBrhod IBD

Brered) DoEod?
1)1, 2, 300850 4 2) 2, 0035 3
3) 1, oBcdw 3 4) 2 08w 4

Which of the following committee /
Commission recommended the abolition of
the IAS and IPS ?
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148.

149.

150.

1) Sarkaria commission

2) Administrative Reforms Commisssion of
India

3) Rajamannar Committee

4) Punchhi commission

8od AS® O Ed / 8RS [ASH6cn
IPS 5 ESEviton) S06?

1) $o9Ba5 SRS

2) @&é&)@&% 6&5& EHS o5 v0dair

3) el S

4) Srod BEKS

Which one of the following was the first fort
constructed by the British in India.

1) Fort William 2) fort st george

3) Fort st David 4) Fort st angelo
583508 BBH T 28NS Isd &%
Bobd &S H6?

1) @‘Sg DO%H0o 2) éﬁﬁg onos w’g
3) sbﬁg o005 BAE  4) 835§ onots Hozst
Consider the following statements.

The president of India has the power to
address both the Houses of the Parliament at
the commencement of.

1) The first session after the general elections
2) Each session

3) The first session of each year

4) The budget session of each year

Which of these are correct ?

1)2 and 3 only 2) 1 and 4 only

3) 1 and 3 only 4)2 and 4 only

B8 ToHHBE EToen 63Iad Kt (FrBogios®
(5¥0oR0T @ssBo Gob.

1) erdes dQBe SHard IS RS

2) HEDHS

3) (8 DoHBBo InEB JAS

4) ($& JoH&)Bo eagés RS

1) 2, oBcw 3 2) 1, Hdosw 4

3) 1, Sobcs» 3 4) 2, Hdosw 4
Consider the following statements.

1) The constitution of India provides that the
vice - President of India shall be the ex-officion
chairman of the council of states.
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151.

152.

2) The Constitution of India has not fixed any
emoluments for the vice - President of India
in that capacity

Which of the statements given above is/are

correct
1)1, only 2)2, only
3)1,and 2 4) Neither 1 nor 2

808 (H8eI0D HdKBoBos?

1) gr88 &HTEH8 TYS 65 Y8 I8 G
@6@5 SOOBA gPEE Toeg0iio BenHH0.

2) grE8 Toersorio @arrTes® s SHGHBS
AenHod FOE N @gcmo:ﬁéfﬁa

BBGED REH0ED DoiHE s

1) 1,585 2) 2, LB

3) 1, Ho08cw2 4) bzetH

Which of the following Articles of the
Constitution broadly govern the relationship
between the Prime Minister and the President.

1) Article 75 2) Article 73
3)Article 78 4) Article 76
5)Article 74

Select the correct answer using the codes
given below.

1)1,2,3and 5 2)1,3and5
3)1,3,4and 5 4)1,2,3,4,and 5

(DS ool® HdAsw m@é@ éacéeg o205
K)J@veaom DcHo(@0o U%‘goﬁoe’i’% (Slattelxle)
AB?

1) e—sgééﬁ_ 75 2) e—agéef 73
3) e—sgééﬁ_ 78 4) e—sgééﬁ_ 76
5) eégéé’): 74

1)1, 2, 35008cw 5 2)1, 30 5
3) 1, 3, 4, 6w 5 4) 1, 2,3,4, HdaSw 5
Which one of the following pairs is not

correctly matched ?

State No.of members in the
Rajya sabha

1) Maharashtra : 19

2) Tamil Nadu 18

3) Bihar 18

4) West Bengal 16

8od 280’ H& N elg 238HESDEBE

24

153.

154.

@&:}o U°a3§éa5 éaﬁ?ge) éogp?g
1) ooy 1 19
2) SDEIH : 18
3) D8 : 18
4) é%aéaﬁomé : 16

Assertion (A) : The coastlines of Atlantic
Ocean provide the ideal location for natural
harbours and ports.

Reason (R) : The coastlines of Atlantic ocean
are highly indented and irregular.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

DB )BeEs0 (A) : ©9¢rodE Hoiedm(Eo SwE)
A8|Frozren Sira FEWSren H00%0 2.8
BHeBH 0HJS (Hden.

D (R) : 06roBE Sosedsn(Es 88(@rosren
TP KOGOELT HBAD OIPGREEONT SOLToD.
1) (A) %805 (R) e Bo 50 H06H
(R)(A) & $6&0% 586

2) (A) S8 (R) en Botd a0 520 (R)(A)
& SO DHBE S

3) (A) 3550 (R) eoaeisssm

4) (A) oa35850 (R) ard5s8m

Major jute producing regions of India include

1) West Bengal

2) Bihar

3) Assam

4) Maharashtra

Select the correct answer using the code given
belwo.

1)1,2and 3 2)2and 4 only
3)1land3 4) 1,3 and 4 only
FEEB0S® (DS edHTE 6B (Frozren
AEE TR,

1) $8)Bores 2) &35

3) @@3\)0 4) 253{55@8;1
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155.

156.

RS v o 6SBrAod DI
JEPEEHIEDE DoHE & ?

1) 1, 2, 085w 3 2) 2, HdAsw 4

3) 1, SHdcsw 3 4) 1, 3 Xbcm 4
Assertion (A) : Irrigation intensity reduces
consistently as one moves from North to south
inindia.

Reason (R) : Deccan region is known for its
hard rock structure as compared to the plains
of India.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4)(A)is false (R)is true

DY )BaEg0 (A) : egrB88BSos® &880 ok
588 37) £8 B Fe S o
B15508.

HD (R) : gr888805°0 Dorares® 807

SEHS [@Podo K& T°8 Joyedd (B8 Bodod..
1) (A) %086 (R) eo BoH a@hso 0050
(R)(A) & 8@ dd8ea

2) (A) 08a (R) en Botd a0 =20 (R)(A)
& 90 DHBe0 o

3) (A) a%%0 (R) oaebssm

4) (A) oas5sn (R) avgss0

In india, natural gas reserves can be found in

1) Hazira Basin

2) Krishna Godavari (KG) Basin

3) Assam and Tripura

Select the correct answer using the codes
given below.

1)2, only 2)1,2,and 3
3)2and3 4)1and3

PEEBE0S® Srer A Qe

1) o BHIE Rulab I

2) §ap F°oe0 DS

3TN0 b BHY

R GHBPA0D [ DErErard) dohsiod

UNIQUE STUDY CIRCLE

25

157.

158.

2) 2,8;(Sad 2) 1, 2, HBosw 3

3) 2 B 3 4) 1, 08%» 3
Mangrove forests have reached a critical stage
of decline in many parts of the world.
Which of the following have caused the
gravest threat to mangroves.

1) Destruction of coral reefs

2) Fresh water diversion a way from seas and
oceans due to hydraulic structures

Which of the above is / are correct .

1) 1, only 2)2,only

3)Both 1 and 2 4) None of the above
(D050 &FE (Fromred® i viHen §Bod
dog 58 Tohaow. (@od TAS® &
wEHo S L) EOA0NH d&?

1) H5EH Bepe eEd0

2) 08 Joyre Hol ddmpren HHBED
o5 DS0Tre $od $00DDB HYoH

3 DB 78S Db $TLH.

1) 1, S5 2) 2, &r@

3) 1,50805 2 4) 239 =H
Assertion (A) : The Himalayan ranges show
a succession of vegetation from the tropical
to the tundra.

Reason (R) : In mountainous areas, the
decrease in temperature with increasing
altitude leads to a corresponding change in
natural vegetation.

1) Aiis correct, and R may partly explain. A
2) A is correct, but R cannot be a reason
behind A.

3) Ais incorrect, but R is correct

4) Both A and R are incorrect

D@ BaEg0 (A) : Srsrecd (Besoen egzﬁ:oc‘éeno
F00& 0B HBB HE BoHH IreHBTPoW.
&5 (R) : H58 [@rozros® 2608 dHs
e@@é@*‘ Brhie Sses BT $0H5S Somods
S o0 B0,

1) (A) %80 (R) & BoH arsso &0k
(R)(A) & $6&0% 586
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159.

160.

161.

2) (A) £8a (R) en Botd k0 =20 (R)(A)
& DO DSt S

3) (A) 350 (R) e0aedsssim

1) (A) oaepEn (R) 55550

Match the following wetlands with what they
are known for.

1) Tsomoriri lake : Breeding ground of black
- necked crane

2) Renuka Lake : Mallards and Lapwing

3) Harike Lake : Site for wintering birds
select the correct answer using the codes

given below.
1)1,2and 3 2)3 only
3)2 only 4) 1 and 3 only

Eod DEE Joeod L&SK‘)% JobS e &
20BeN0?

1) I8 D88 - S &on éoaﬁﬁse‘%@;
2) Bead¥ QB - aﬁae;?é\) 0B &%® ah

3) 68 D6y - Sarseed) $He (@Fodo
8B BLremeed) dodsiod

1) 1, 2, S6c5w3 2) 3,50(855%

3) 2,50(855% 4) 1, $o6c5» 3
Arrange the following rivers from south to
north:

1. Mahanadi 2. Brahmani

3. Palar 4. Godavari

Select the correct answer using the codes
given below:

1)2341 2)2314

3) 3412 4)3421

$8e0 ol &Eo HEE (8od It
©G)o&?

1) 556 2) (5B

3) b 4) R0

1)2341 2)2314

3) 3412 4)3421

Which of the following are the tributaries of
River sone ?

1) Gopad 2)Rihand

162.

163.

26

3) Kanhar 4) North Koel
Select the correct answer using the codes
given below.

1)1,and 2 2)1,2and 3
3)2,3and 4 4)1,2,3,and 4
8od BS® WS K68 &HSDen JD?

1) 586 2) 85B0&

3) 836 4) 63885HS

1) 1 08w 2 2) 1, 2, 805w 3

3) 2, 3 Xoboiw 4 4) 1, 2, 3 6w 4

Consider the following statements

1) The western and Eastern Ghats meet at
Nilgiri Hills.

2) Eastern Ghats are highly eroded due to
the east flowing rivers

3) No peninsular river originates in the western
Ghats.

Choose the coorect answer using the codes

given below.
1) 1,and 2 only 2)2 and 3 only
3) 1 and 3 only 4) All of the above

(Bod (HBeTO HBKBoSoR?

1) é%t)aéa SoB3w ééwéao) Eodoen Hond oke
D¢ Serom.

2) éﬁontﬁaa)zé @’)é?yoé S&He z8e0me éavéaa)
Eosoen erre 5285 5B

3) &5:3%@0) 6 H8)e EhrSoes® DG
BIHD B3@ES G0k edBrhod $BD

Qo) DoHstod?
1) 1, SH8c%» 2 2) 2, 03w 3
3) 1 H6cs» 3 4) 2SI

Arrange the following mountain peaks from
North to South.
1) Nanda Devi
3) Saramati

2) Kanchenjunga
4) Kangju Kangri
Select the correct answer using the codes

given below.

1)1,2,3,4 2)4,1,2,3,
3)1,3,2,4 4)4,1,3,2

6880 Hod $8od (Bod DG BpTred
oG08 ?

1) S0t 2) srosSesore
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164.

165.

166.

167.

168.

3) PBS 4) Sorpsolh
11,2 3,4 2)4,1, 2,3
3) 1,3, 2,4 4) 4, 1, 3, 2
Khasi' and 'garo' tribes mainly live in.
1) Kerala 2) Meghalaya
3) Chota Nagpur 4) Tamil Naud

“grd” H805w “rd” Bren (Hordore &
[@roBos® AHRKTNG?

1) S6¢ 2) Sogreercdh

3) SheF>eissres 4) ¥

Naku La pass is located in the state of.

1) Arunachal Pradesh 2) Himachal Pradesh
3) Uttarakhand 4) Sikkim

‘o EH” O Togod® eob?

1) B SSHES 2) ISP SSHEE

3) eSoempold 4) ?o%&o

Which of the followin Indian states does / do
share border with China ?

1) Assam 2) Punjab

3) Sikkim 4) Arunachal Pradesh
Select the correct answerr using the codes
given below.

1)1,and 2 2)3and 4
3)1,3and 4 4) None of the above
Bob BE° rs® KoL EOAS Tolapen .
1) @S'Do 2) HoerdH

3) ?o%&o 4) @6383%‘56@655
8B BLrerard) Dosod?

1) 1, o8csw 2 2) 3 Sdsw 4

3) 1, 300G 4 4) IR

Pothmala Hills, recently seen in news, is

located in.
1) Kerala 2) Tamil Nadu
3) Telangana 4) Karnataka

adSo 8ef 82008 o &) & Tt
BoH?

1) 38¢ 2) BEH

3) Boorres 4) écggéoé

The Tropic of Cancer passes through which
of'the following states.

1) Rajasthan 2) Madhya Pradesh
3) Tripura 4) Jharkhand
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169.

170.

Select the correct answer using the codes

given below.

1)1,2and 3 2)2,3and 4
3)1,2,and 4 4)1,2,3and 4
8860 8 Bod D oolefe ot (©Hasrdinot?
1) oeesPR 2) Zéacﬁg@’)ég

3) @95 4) &0k

DOIHE DHPGPEEID DotHE K00 ?

1)1, 2, 8a%0 3 2) 2,3,500805 4

3) 1, 2, 06c%» 4 4) 1, 2, 3, 00 4
The term National Income represents.

1) Gross National product at market price
minus depreciation

2) Gross National Product at market price
minuts depreciation plus net factor income
from abroad.

3) Gross National Product at market price
minus depreciations and indirect taxes plus
subsidies

4) Gross National product at market prices
minus net factor income from abroad.
PEATPTREH0 S HE0 (Bos T KrR0H?
1) 505 560 38 ‘c(Dge) >HH &EB BHIHEL
2) SO e 5 Kpe @B 68)8 HHB
DBz £0d :5;533 QBE e3meado

3) 25?827&5 oo E\’:o;e) wécﬁﬁéﬁo}g SBorHEse
50800 HB%E Bnes® Few ShHBen

4) L85 BB B8 {pe PATPEE BB IR
DBz £H0d :5;533 sedEo.

The government of india has established NITI
ayog to replace the.

1) Human Rights Commission

2) Finance Commission

3) Law Commission

4) Planning Commission

Gr8E8 (Hghdo B8 aveor I8 ©BrA
DTED Zob?

1) S8 SeEne MRS

2) parR) EDDIS

3) PELRS

4) (Heedse Hozvo
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171. Community Development programme was

172.

173.

UNIQUE STUDY CIRCLE

initiated primarily to,.

1) To bring development among people by
raising the literacy level

2) bring about overall development of the
village throught - self - help

3) Increasing the control of the masses over
the locally available resources.

4) Increase agricultural production throught
mechanised farming

Eeg08 BdeoDboti@irro Eeesore S8
(Fr8odoBSedod?

1) egooss é;owé'\) o0 T (Hesos®
@95)2;6@%50 Endorso

2) oo - dado oo ((rebo wgo @5)2.6@%
Zoho

3) égé)éom 080T $8HeP (Hae JohoEe
osto

4) oSro®8 écge‘é:@ gy ééé@*’oﬁa &8
osEo

Mid-Day meal scheme was launched in 1995
to promote.

1) Adult litreacy

2) Secondary education

3) Universalization of primary education

4) None of these

1995 &% éoc,rf’?gé‘g s SFEo 3ID
(©8)Rrosed8 (rdodobadod?

1) $@resd ©FTHRS

2) zﬁﬁcﬁegc‘ibé 8)655

3) [PFDE Dy BwE), B BEBe

4) Hbzoes

Which of the following taxes are levied and
collected by the centre but their net proceeds
are wholly transferred to states ?

1) Expenditure Tax and Gift tax

2) Additional Duties of excise in lieu of sales
tax

3) Stamps and Registration

4) Taxes on advertisements

Bobd >BS® O H3ne SolBo DHod Jwen
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174.

175.

176.

3500 520 & JEY STAHo e TP
260 FcHatsod?

1) spé;l) 5326301 0B8N TV ESIN

2) oEH SN aHesrr IBYE ©&HDH
Qooseen

3) asoo"g)e» K805 6&@3&’15

4) (D8OOI H{yen

The term 'paper gold' means.

1) Special drawing rights IMF) of the IMF
2) Special accomodation facility of the world
bandk

3) Currencies still on gold standard

4) Deficit financing

206 ﬁseg O D8 ®¥o.

1) Q¥ 88 ([@rowoh Segnen IMF

2) (B0 er50% @/Jééé S8 JEBg0
3880 @3B ﬁseg é};oééés &I

4) &%» xR

Pro. Amartiya sen was awarded nobel prize
for his contribution to the field of.

1) Food and famines

2) welfare economics

3) Indian economy

4) Poverty

B35 0SS S BorrRs T ER8 FBS
T8 FPoTed>?

1) 855880 HdAsn EdsHen

2) Vo5 ¥ (Ko

3) &r08 @BS B

4) 6B

Karal Marx explained the process of class
struggle with the help of which one of the
following theories ?

1) Empirical liberalism

2) extentialism

3) Darwin's theory of evolution

4) Dialectical materialism

=8 &5 80b & dgpodo KPahod® $E Hoeey
(B85S DSBoTE?

1) ©5grdE smrdario

2) QFBarS0
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177.

178.

179.

180.

3)@655 58S ?omgoééo

4) SoiDE F°8E P50

Atpresent Indian Rupee is.

1) Partially Convertible on current account
2) Fully convertible on current account

3) Partially convertible on capital account
4) Fully convertible on capital account
(©080 gR8E Ereaeon?

1) &30¢» grars® J88orr S vizepfalashola

2) &Boéxn graest Ireore éavéz)axﬁae‘é)o&

3) S°§3)éae">= g’ F88orr S 0tE08

4) se260S grers® o Srd)pthEod.
Which one of the following is NOT the source
of revenue of Central Government ?

1) Income Tax

2) Corporate Tax

3) Agriculture income tax

4) Excise Duty

od d8° Bol 80y eTraird8 Sreo
5080 dO?

1) esTPa®sy B3y

2) 5285065 iy

3) IO eTPasy 58y

4) DBYE &rogd

Which one of the following is NOT a function
of Finance Commission in India.

1) Devolution of Income Tax

2) Devolution of Excise Duty

3) Award of grants - in - aid

4) Devolution of Trade Tax

Bod BS® Db grEEBES® PRy BWHRS
FoE) DBSH?

1) 8P 0‘6263& @éo@éém

2) 98)E oo Sog) Béw‘géS

3) ((rotd) - 8l - dowk azéw§o“15

4) &5 B& &5 T

Consider the following statements regarding
the GST regime.

1) Input tax is the tax paid by dealers
registered under GST on their inputs

2) Credit for input tax paid is available while
paying GST

29

181.

182.

183.

which of'the following statements is / are true
?

1) 1, only 2)2,only

3)Both 1 and 2 4) Neither 1 nor 2
B.0R.8. Fodd Yo0dod Bobd 156\36553065_0263
HBKBoLOR.

1) 8858 ¢r5) @08 2.38.8. 808 IRrED
Boben 855 88w IYoB Dy

2) 2.98.8. BYoBeDE BYoDS aSHE &)
B&E wodrertns® Gotwod.

Bod R0 D& a0

1) 1,585 2) 2,57@

3) 1, Ho8cso 2 4) Dbz

The national income of a nation is the.

1) Government's annual revenue

2) Sum total of factor incomes

3) Surplus of public sector undertakings

4) Exports minus imports

2.8 B¥o @) 8D wmeaHo?

1) ($ghey 55°6°1é SN0

2) ©°§§8 ST S0

3) @@e‘% Bon éo‘cg@ QorHoen

4) ArHoen IV drHoeen

The difference between the Gross nationa
product (GNP are net national product
(NNP) is equal to the.

1) Consumer expenditure on durable goods
2) Direct tax revenue

3) Indirect tax revenue

4) Capital depreciation

B rBTTE)B S0 NEB er8ITH)B Kot
@590 HBE J&rdore Gotnod?

1) QPSS SPHeP AADrHNTrde HHoho

2) @é&é D8y oeadd

3) 568s§ $8) el

4) Soroidd SBHEe

The world Happiness Report has been
published by

1) The world Bank

2) World Healthe Organisation

3) UNDP

4) United Nations.
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184.

185.

588 SHRH OV (HSHB0DIE?

1) ($H0S eafgoéa 2) (oS 6—38555 éog
3) UNDP 4) e¥gorey; NS
Consider the following statements.

1) Small dolls are made near charminar with
the ore of copper.

2) Haleem eaten during the Ramzan month is
very popular and is exportad in large quantities
to the middle east and other countries.

1)1, only 2)2, only

3)1and2 4) None of the above
808 (D8I HdKBoBos?

1) m@&a‘ﬁé Cﬁféaés oA S08& Qeso&’ A}
FSen SCTE BR.

2) BoeeS S008° eere (Herties SPodS FOD
e Jndos® gy FTro IXBS
DohersHEod.

1) 1, &85 2) 2,50°(855%

3) 1 S8 2 4) 239 =D
Assertion (A) : Dr. Jaya shankar gave Dr.
B.R. Ambedkar Memortal leeture on 6th
December 2004 during the celebration of
ambedkar birthday by Dr. B.R. Ambadkar
Memorial Trust, Hyd.

Reason (R) : The lecture was gruen on
Reorganisation of the state - smaller states
Dr. B. R. AMbedkar's operions and it was a
very enlightening speech by Dr. Jaya Shankar
where he explained, in simple language, the
ideas of Ambadkar on the subject of smaller
states.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4)(A)1s false (R)is true

D@ )yBarsgo (A) :&2o286 6, 200435 oo
wdodogEs sy . H.«6. 6:90565%_5

5‘26%‘53?@55 S00d0 o, D.e8. @023';65275
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186.

187.

DIPBAHS (©Y FrETEErs w8 AGRPoDS
@oﬁcﬁzﬁ aaéé ?09@6565 [T

&P (R) : adegdo oolape HBE Zégé%ééea
D) oo Aovenp G868, wodi)b ¢Gdo
2 aebod. B &8 &dTYV0 a;(%ﬁcsdﬁao

EOROTO™ J8Y erlst @Cﬁ)ejéorw 0.

1) (A) %0800 (R) &0 Botd a@dH0 SoBasn
(R)(A) & 258G 5860

2) (A) 28 (R) en Botd a0 520 (R)(A)
& $OF0S DSe S

3) (A) &350 (R) e0aeds5850

4) (A) oa35850 (R) ard58m

Assertion (A) : Dr. Chenna Reddy on 3-1-
1973 ecpressed that the division of the state
is the only solution

Reason (R) : Mulki Bill is completely against
the mulki Rules. This will not benefit telangana
people in any way.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

D@Bargo (A): o 3o7BE 3-1-1973 § ooy
Difesis 2.8 DO Hgo .

& (R) :Zéw@& Aex Jrome éwg)gy Qe0Ebe%
aééé’éééo 89 S0l Boorrs (Hued Jerod

(HBeazdo Seo.
1) (A) %080 (R) &0 Botd a@dH0 SoBasn
(R)(A) & 258G 5860

2) (A) 8 (R) en Botd ad%0 =20 (R)(A)
& BOTHD DS S

3) (A) 350 (R) o050

4) (A) warsssm (R) aessm

Match the following.
List-1

A) Sadak Bund

List-1I
1) 21-3-2013
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188.

189.

190.

B) Samsad Jana Bheri 2) 27-4-2013
C) Sakala Jana Bheri 3) 29-9-2013
D) Million March 4) 10-3-2011
1) A-1, B-2, C-3, D4
2) A4, B-3, C-2, D-1
3) A-2, B-1, C-4, D-3
4) A-3, B-4, C-2, D-1

238HBHX0?

erder-1 -2

Q) JEE 208 1) 21-3-2013
8) B0X8 S| 2) 27-4-2013
) $8eusBo 3) 29-9-2013
&) DO 558 4) 10-3-2011

1) 9-1, 8-2, 2-3, &-4

2) -4, -3, 1-2, &-1

3) -2, -1, d-4, &-3

4) 2-3, H-4, 1-2, &-1

In order to evaluate implementation of 1975
presidential order and 610 GO which of the
following committee was formed.

1) Lalith Bhargav 2) Vanchu

3) Girglani 4) Amrik singh

1975 (2REYCHS @86 $6a» 610 GO
O WoST IcHEI8 O B Hoew
Boha&od?

1) 0d& 3,5°§5 2) 5°0%%

3) ﬁ&\:ﬁ 4) o|Q08voh

Who among the following hoisted congress
flag on Hyderabad residency building .

1) Kaloji Narayana Rao

2) Burgula Ramakrishna Rao

3) M. Narsing Rao

4) Padmaja Naidu

Bobd 6S° BB FrETeErs BRRY) FS5$0P
50[RK) 2OTPEY AHBRTE?

1) 52858 PoroHeaTes) 2) 2o To0E)F0G
3) adho. I8yorTes) 4) KJ&&%" TP
Rangam is associated with ?

1) Secunderabad bonalu

3) Bathukamma

3) Kolatam
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191.

192.

193.

194.

4) Dasara Festival

Boro J56&° Gomoo EOA Gob?

1) 28o(zeers Hiaren

2) aaéﬁaé:éa&

3) 88ewero

4) Sdo° Hotdi

Who wroter Nageti chalalla naa Telangana ?
1) Goreti Venkanna

2) Gaddar

3) Nandini Siddhareddy

4) Deshapathi srinivas

“TRB TrY T Boorre” P8 Biond?

1) A"38 Bo8F) 2) 586

3) $ob JTB 4) 3858 IS
Mizanis ?

1) Aurdu film

2) Anews paper from Hyd

3) Historical monument of 18th century

4) Irrigation project of kakatiyas

“Soer&” s IW?

1) &&p AL

2) &Teerd ol a8 T HBY

3) 185 orgsh TeB(BE IJYBE Do

4) 5288050 B FBose (B

Who is the chairman of Telangana Tourism
development corporation ?

1) Allam Narayana

2) Uppala srinivas Gupta

3) Niranjan Reddy

4) Pidamarthy Ravi

Beorres 8220 EHOHDoES 9656&5 §6&5
HB?

1) ®20 TPo°0%es 2) &d)e §ITRIDN
3) doesS 3G 4) DESB B

The birth place of former prime minister PV

narasimha rao.
1) Manthani 2) Dharmapuri
3) Brahmanapally 4) Vangara

Lo TEHB .9, SBRo® T iy goo
d6?
1) oo 2) 66(&0“9)6
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195.

196.

197.

198.

4) Soiss
'Palle kanniru Peduthundhi kanipinchani

3) @P@&mé@

Kutrala' is a song of which movie ?

1) Komurambhim

2) Jaibolo Telangana

3) Kubusam

4) None of the above

08 BB 208, EIH0W BB .. e O
25558

1) 5080 e‘f)o 2)a8 S Beorres

3) Hando 4) HozeH

Who was the chief Minister of Nahdra
Pradesh when vision 2020 was designed .
1) Chandra babu naidu

2) N.T. Ramarao

3) Jalagam Vengal Rao

4)Y.S. Rajaskhar Reddy

QuS 2020 $500%08° so(f($EE oog
03500 ANB0?

1) So(eren TP 2) IR, 8. TN

3) @Ko JoNET°Y) 4) R.00R. U%égpg&é
In which sector, hiten hayya committee
recommended for reforms ?

1) Employment 2) Electricity

3) Industries 4) None of the above
8 gPimg EE oot DoBeaesH
RarEy) BRos?

1) 636 2) DS

3) HB(Esoen 4) 239 =D

Which of the following committee was formed
on state administratio, salaries, for the reforms
of world bank.

1) Koneru Ramakrishna Rao

2) Subrahmanyam committee

3) Hiten Bayya committee

4) Gangypadhyaya Committee

(%08 argesH  YoBeme &0 o) HOPOS
J80P 0B8N HTBok?

1) 853% U%aé@%m@ 2) Dolesoeago S0
3) &S gasey B 4) Kot argrych Eé

UNIQUE STUDY CIRCLE 32

200.

199. In which of the following disinvestment was

not made during reforms .

1) Repco chipurupalli

2) Voltas limited

3) Nedcap

4) None of the above

JoBeee $ochHos® 8od B PO
&HI0TGe 2BNSE.

1) 398 HHH0Y 2) Serd OBE

3) 3= 4) 239 =H

In which place, Rajarajeshwara cooperative
spinning mill was located, the mill was closed,
as a part of reforms.

1) Vemulawada 2) Metpalli

3) Ramagundam 4) Siricilla

éoé&éw@g griiore SurRachads m&mé%&é
& ©O0BS )NORWMS O (@odos® sob?

1) Sdweard 2) eS8

3) oedorhoio 4) dBer

skekesk
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